Y Junickari

WIZARD PLUS

7 Junkkari

INSTRUCTIONS FOR INSTALLING
AND CALIBRATING THE

WIZPLUS_09EN

ADJUSTMENT CYLINDER

ar

5 YLIHARMA FINLAND
TEL. +358-(0)6-4835111

FAX +358-(0)6-4835295

junkkari

e-mail: junkkariomskfi ENGLISH CE€




w N

TABLE OF CONTENTS

PAGE

CONNECTIONS. ..t 3
CALIBRATION. .. e ittt 4
3.1 CALIBRATION OF THE LINAK ADJUSTMENT CYLINDER

(UPPER AND LOWER POSITION)....tiiuiiiiiiiiiiiiiiiiiiiiiiineineenns 4
3.2 DRIVING THE CYLINDER PISTON TO THE CENTRAL POSITION

AND THE ROTATION TEST...viiiiiiiiiiiiiiiiii i 5
3.3 SETTING A NEW FERTILISER AMOUNT WHEN THE MACHINE IS PRESENT..... 5
3.4  CHANGING THE FERTILISER AMOUNT WHEN THE MACHINE IS MOVING...... 5
3.5 CHANGING THE SPECIFIC WEIGHT FACTOR OF THE ROTATION TEST

(NOT NORMALLY USED)..ciuniiniiiiiiiiiiiiiiii i 6
3.6  CHANGING THE SCALE OF THE AMOUNT ADJUSTMENT ......ccccvvviniiinnnnn. 6
SPARE PARTS. ettt e 8

NOTE!
This booklet is intended as a supplement to the Junkkari-Simulta or Maestro instructions.

The Wizard-Plus sowing machine controller has the same functions as the Wizard controller, with
the exception of the fertiliser remote control. Therefore, this booklet will only discuss the
functionalities that are related to fertiliser remote control. Other functionalities are discussed in
the instructions that are supplied with the machine located in the section describing the use of the
sowing machine controller.



2 CONNECTIONS

Connect the Linak LA12 wires according to the diagram below.

BLACK YELLOW GREEN BLUE RED

FEEDBACK WIRES CYLINDER MOTOR WIRES LEAD-IN OF CYLINDER WIRES

If the motor runs in the wrong direction, switch the motor's blue and red wires and the
potentiometer's black and green wires.

Wires from the right to left:

Red = Motor + (actuator extending)
Blue = Motor + (actuator retracting)
Green = Potentiometer 0 volts
Yellow = Potentiometer signal
Black = Potentiometer + volts



3

3.1

This
1.
2.

3.

- O

0.

N

CALIBRATION

= Junkkari

Cursor is here ‘ : — Cursor is here when the
when the motor motor is being run in a
is being run or moving machine.

calibrated.

CALIBRATION OF THE LINAK ADJUSTMENT CYLINDER
(UPPER AND LOWER POSITION)

NOTE! THIS IS NORMALLY PERFORMED WHEN BEING INSTALLED AT THE FACTORY,
IN WHICH NO CUSTOMER INVOLVEMENT IS USUALLY REQUIRED.

calibration state is reached in the following way:

Turn the power off.

Press and hold the 'STOP/ Ha to 0’ button when turning the power back on. In 10 seconds, you will
see 'CAL.4' and the display will go to programming mode 4.

On channel 1 (Vmin) ), press the -’ button in order to move the piston to the minimum position. You
will see the feedback value change on the screen. If the cylinder is correctly connected, the value
should be approximately 2800+500 when the piston is completely inside.

. When the piston is completely inside and the motor is no longer running, release the '-' button and
accept the lower threshold with the '+1' button.

Press the 'STOP/HA to O’ button in order to move to channel 2, where the transfer to the maximum
length will be carried out.

Press the '+ button in order to drive the piston to its maximum extent. You will again see the
feedback value change on the screen. It should finally reach 7800+500.

When the piston is completely outside and the motor is no longer running, release the '+ button and
accept the upper threshold with the '+1' button.

Press the 'STOP/Ha to 0’ O' button in order to move to channel 3, where the parking exactitude of the
cylinder will be seen. This can normally be changed with the centre button (the normal value is
0025). If the cylinder is whirring continuously, the value can and must be changed.

When you press the 'STOP/Ha to 0’ once more, the cursor will move back to channel 1.

Turn the power off and then turn it back on. The cylinder is now calibrated.



3.2 DRIVING THE CYLINDER PISTON TO THE CENTRAL POSITION

AND THE ROTATION TEST

is performed as follows:

1.
2.

3.
4.

10.
1.

Turn the display off.

Press and hold the '+ button and turn the power on. The display will show the text 'CAL.3' signalling
programming mode 3.

The cursor will be seen on channel 1 and the screen will show 'P.CAL’ (product calibration)

Press the 'STOP/Ha to 0' button once. The screen will alternately show 'ACT' ja 'PO5'. When you
begin to rotate the fertiliser axle, the following occurs: The piston of the cylinder will drive itself to
the 50% position, and when this is reached, a sound signal will be emitted. After this, the screen
will show an area. This means that you can begin the rotation test.

Rotate the fertiliser axle until the amount that is rotated equals an area of 0.01 ha. The display will
beep, in which you can then end the rotation test.

After the test ends, the display will automatically switch to channel 3, which shows the amount that
is theoretically achieved in kilogrammes.

Change the on-screen value to the real value achieved in the rotation test with the '+ or '-' button;
e.g. 4,700. Accept the value via the centre button, in turn moving the cursor to channel 4.

The value is theoretical. Therefore, it is recommended that this stage be skipped. Channel 4 will
display the specific weight factor of the rotation test result. You can take advantage of this value if
you are using fertilisers of different weights.

By pressing the '+ button, the cursor will move to channel 5, which produces a value between 80%
and 120%. This value can be used in order to compensate for the rotation test in various situations -
the machine may be nearly empty or full. The value has the form 0100. This value cannot be
changed in this programming mode; it is performed at 5. This can be used when using different
fertilisers.

Press the '+ button, in turn moving the cursor to channel 1 and ending the rotation test.

Turn the power off.

3.3 SETTING A NEW FERTILISER AMOUNT WHEN

THE MACHINE IS PRESENT

is performed as follows:

UGN WN =

o

Select channel 4.

Press and hold the '+ or the '-" button for at least 3 seconds.

When the numbers begin to blink, release the button.

The '+ button can be used to increase the amount and the '-' button to decrease it.

When the desired amount is displayed, press the ' +/1Set Target ' button for 3 seconds in order to
accept the new amount.

When you set the machine in motion, the cylinder will move to the set, desired position.

3.4 CHANGING THE FERTILISER AMOUNT WHEN THE MACHINE IS MOVING

is performed as follows:

1.
2.

Choose the channel via the centre button.

Use the '+ button to increase the fertiliser amount. The display will blink and alternately show the
new amount and the percentage increase, e.g. '550' and '10', meaning that the new amount is 550
kg/h,which is 10% more than the previous amount. If you press '+ a second time, the screen will
alternate between '600' and '20', and so on.

Decreasing the amount is correspondingly performed with the '-' button.

The previous setting can be restored by pressing the STOP button one time when in channel 4.

(NOTE! AFTER THE FINAL ADJUSTMENT, THE WIZARD NEEDS 6 SECONDS BEFORE THE ROW
MARKERS WILL BEGIN TO WORK AUTOMATICALLY AGAIN)



3.5 CHANGING THE SPECIFIC WEIGHT FACTOR OF THE ROTATION TEST
(NOT NORMALLY USED)

Is performed as follows:

1. Select channel 4. Press and hold the '1/Set01 Target' button.

2. After 5 seconds, the current factor is displayed on the screen. The value can normally be changed
via the centre button.

3.6 CHANGING THE SCALE OF THE AMOUNT ADJUSTMENT

is performed as follows:

1. Turn the display off.

2. Press and hold the '"1/Set01 Target' button and turn the display on. The display will show the text
'CAL.2.

3. The cursor will move to channel 1 and the display will show the percentage scale of the adjustment.

4. The centre button can be used to change the value to: 5, 10, 15, 20, or 25.

5. When you have the desired value on the screen, turn the display off, and then turn it back on. The

CHANNEL 1 CHANNEL 2CHANNEL 3 CHANNEL 4 CHANNEL 5 CHANNEL 6

= Junkkari

o

The ON/OFF button is located on the back of the display, which can be utilised to navigate to different
programming modes.

1 Calibration of the Linak adjustment cylinder
- Press and hold the 'STOP/Ha to 0' button for 10 seconds when turning the power on.

2 Driving the cylinder piston to the central position and the rotation test.
- Press and hold the '+ button when turning the power on.

3 Changing the scale of the amount adjustment
- Press and hold the ' +1/Set Target ' button when turning the power on.
The STOP button can be used to restore the original fertiliser value (cursor on channel 4)

6



j2q Junkkari

WIZPLUSO9_EN_B

SPARE PARTS CATALOGUE

Junkkari Oy

62375 YLIHARMA FINLAND
TEL. +358-(0)6-4835111
FAX +358-(0)6-4835295
e-mail: junkkari@msk.fi
Internet: www.junkkari.fi

ENGLISH CE€



18244 / WIZARD PLUS +
FERT. REMOTE CONTROL




PART

N —

O O0ONOUT AW

11
12
13
14
15
16
17
18
19
20
21
22
23
24
25

CODE

18696
15498

18705
D40600
18699
15902
16401
18707
18708
CE62012RS
BH1210L11
AOA151014

AGA113014
AGC111014

A50710

A08051514
A060G1024
Ag6113014
A0C0S4524

S/HU/306-5-001

16199
18698
A061A1524
Cv0101210
Z780-510

18244
D40602

NAME

BEARING HOUSING WELDED
PLOUGH SHARE HOLDER SCREW
WELDED

JOINT FORK WELDED

CYL. LINAK LA12.1P-100-12-011P6
SEPARATOR PLATE NEW
ADJUSTMENT CYL. SUPPORT
TRANSM. PLATE (SIMULTA)
TRANSM. PLATE FOR MAESTRO
LINAK PROTECT. TUBE COMPILED
BALL BEARING 6201 2 RS

SEGER RING, HOLES 32X1.2 DIN472
6-SCREW M10X35 8.8 DIN933 ZN
6-BOLT IL M10 DIN985-8 ZN
6-BOLT M12 DIN934-8 ZN

6-BOLT IL M8 A2 DIN985 AISI
6-SCREW M8X25 8.8 DIN933 ZN
6-SCREW M6X16 8.8 DIN 933 ZN
6-BOLT IL M 6 DIN985-8 ZN
HEXAG. SCREW M12X25 8.8 DIN912 ZN
WIZARD PLUS MONITOR

MOVI BEARING

PIVOT WELDED

6-SCREW M6X40 8.8 DIN 933 ZN
DRYMET BEARING 701 10/12/10
WIZARD PLUS FRONT PANEL

WIZARD PLUS ALL PARTS
Computer WIZARD PLUS PACKAGE
(Only the parts from RDS)

AMOUNT

1

S WNW=_ 2 a lAPNNNNNN_SR A AaaaaN-_" a2 -



WIZARD PLUS SOWING MACHINE CONTROLLER

28

10



13XOVH9 ONILNNOW
av3at ¥3amod

av3aT ¥amod

av3aT ¥3amod

VHldS NOILD310dd
1IWWOYD

MIEDS

YIHSVM

1NN X3H

ANIT ¥3dWNr

+QUVZIM @dvO04q 1INJdID

24l AVM-€
Jdl AVM-T
avat INIWNILSNI

L ANITWYYL
7 ANITWYYL

avil ¥amod

LINOVYW d04 ‘MIUDS
LANOYW

1NN X3H

MIYDS XIH

¥3AT10H YOSN3S
INNOD “1L/YOSN3S
@33dS/Y0SN3S

13A31 @33S/¥OSNIS
T3AITLYI4/Y0OSN3S
al7 X0g NOILONNF
X089 NOILONNC

+ QYVZIM LNIWNYLSNI

NOILdI¥DS3a

d3INTONNVdS
YILIFTWOYLS
YALIFTWOHLS
YILIFTWOYLS
31vdIdS ONNXD3d
IWWNS SNV NOILY10SI
3dNVYHDS
ONIIOITIALNN
YALLNWLINVISHO3S
ANIT ¥3dWNr
+AQUVZIM 113491TVHOS
2dl 104d-¢€

Jdl 10d-T

JOLINOW dN4 Y3113

} ONNLAIIHIS39 ISSVHLSHHVA
¢ ONNL4IYHDOS3d ISSVHLSHHVA
YALIFTWOYLS
JINVYHISNNVASANY 'NOVYW
1INOVYW

YALINWINVISHD3S
J9NVYHISLINVISHO3S
¥393OSTNdWI dN4 ¥3L1VH

YITHYZ/43939STNdWI
OdW3L1/43939STNdNI
NY3IM/¥393IOSTNdNI
¥IONNA/¥IIIDSTNdNI
123d3SOASSNTHISNY
3SOASSNTHOSNYV

+ QUVZIM HOLINOW

ONNAIFYHOS39

rIvL3aLsy4
ONINAITWQYLS
ONINAITWQYLS
ONINQITWQYLS
IVHIdSAAANS
(IWWND9) ONIY310SI
ANYNS

wIDIYg
YALLNWLINVYX3S
MNIT ¥3dwnr
+QYVZIM LHOMSLIUN
Jdl 9110d-€

2dl 91170d-Z

“LINOW T1IL ONINA3T

L HONHYWHYdSHOM
T HONYVWHYJSHON
ONINAITWQOHYLS
ANYNSLSYH LINOVYW
1INOVYW
HALINWINVIX3S
ANYNSLINVAX3S
FAVTIYHIOSNIS

ONINMYYIE/HOSNIS
13IHOILSVH/HOSN3S
YAINOYA/HOSN3S
13SA0D/YOSNAS
Moyda
VdYMSONITddOX

+ QUVZIM HOLINOW

ONINARIMS3IG

VY TVISALINNIIY
NIGQHOrQYHY'S
NIQHOrQYHYS
NIQHOrQYHY'S

[YV¥IdSYrons
ALSINAILNIIAIY T
IANNYILT3d
AATISNTVY
I¥3LLAWOISNNY

« TAddAH,, 1¥3ddwnr
+Q4VZIM AATTIYIId
2d1 NINIVAVN-€

201 NaNIVAVYN-Z

ITTIYOLINOW OLHOr

L " MEIWVHENOry

¢ MYIwvdnory
NIAHOMOMHYS
IANNY NIIM NOYW
IL1IINOYW

3 LLNWOISNNA
IANNYOISNNA
NIdld NIdNLNV
NMSYT/INLNY
SN3dON/I|INLNY
NIWAIS/TINLNY
VINVINGV/IINLNY
ISNVX
VISVAYLININLAN

+ QUVZIM TJOLINOW

INIWIN

wuwooy - ¢€ SS

8L X¥
GZ1 NIQ 9w
9w

YW
9X91
8W

91 X 8W
LE8VL-E

1dod
idaod
aom
[ef0]0)/

IMG/OIW/ZIM/A 67
8z

LT

020-7-90£/92/S 9
711560 Gz
#10-0€£9/S 44

€T

605099 144

090GV 4
0¥0-2091/S 0z
#00-90€V /S 61
€01-209L/S 8l
701-2091/S L)
0Z0-£-90£/9D/S 9l
¥70-1-90€/9D/S Gl
GZ0-1-90€/92/S 7l
0Z0-1-90£/92/S €1
4!

0Z0-1-€61/9W/S Ll
¥10£1188Y ol
1619080V 6
yA%:14} 8
900-78£7/S L
900-78.Z/S 9
600-€124/S G
600-€124/S 4

€

€00-£-90€/JV/S 14
100-G-90€/NH/S L
ON 434

UN  CWNV

N 43

O¥N  3ILIIA

11



